PG 45
24.
a. Sentinel-Controlled Repitition
[bookmark: _GoBack]b.As a sentinel controlled for the while-loop to be execuated or not. Variables is initialized to 1 so that loop can be run. 
c. zero
d.Yes it is.because you can choose to add any weights or not to and it helps you to calculate the average and total weight.
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#include <iostream>
using namespace std;

int main()

{

int weightCnt = ©;
bool more = true;
double weight,totWeight = ©;

cout << "Calculate the average and Total Weight";

cout << "of 5 Students \n\n ";

while (more == true)

{

cout << "Enter the weight of a student:

cin >> weight;

totWeight += weight;
weightCnt++;

cout << "Anymore weights?
cin >> more;

}

cout << "\n\nYou have " << weightCnt << "weights.";
"<< (totWeight/weightCnt);

cout << "\nThe Average Weight:
cout << "\nThe Total Weight :

cout << "\n\nEnd of Program";

return @;

Enter 1 for yes OR @ for no:

" << totWeight;
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#include <iostream>
using namespace std;

int main()

{

int more = 5, weightCnt = @;
double weight,totWeight = ©;
cout << “"Calculate the average and Total Weight";
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while (more >= 1)

{

weightCnt++;
more -= 1;

}

cout << "of 5 Students \n\n "

cout << "Enter the weight of a student:
cin >> weight;
totWeight += weight;

cout << "\n\nYou have " << weightCnt << "weights.";
cout << "\nThe Average Weight: "<< (totWeight/weightCnt);
cout << "\nThe Total Weight : " << totWeight;
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return @;

cout << "\n\nEnd of Program”;




